
A

C

T

GP

U

S
deoxyribose

S
ribose

transfer RNA

amino acid:
___________
___________



S
deoxyribose

S
deoxyribose

S
deoxyribose

S
deoxyribose

S
deoxyribose

S
deoxyribose

S
deoxyribose

S
deoxyribose

S
deoxyribose

S
deoxyribose

S
deoxyribose

S
deoxyribose

S
deoxyribose

S
deoxyribose

S
deoxyribose

S
deoxyribose

S
deoxyribose

S
deoxyribose

S
deoxyribose

S
deoxyribose

S
deoxyribose

S
deoxyribose

S
deoxyribose

S
deoxyribose

S
deoxyribose

S
deoxyribose

S
deoxyribose

S
deoxyribose

Cut out all shaded areas. Pieces should look like: S
deoxyribose



P P P P P P

P P P P P P

P P P P P P

P P P P P P

P P P P P P

P P P P P P

P P P P P P



A

A

A

A

A

A

A

A

A

A

A

A

A

A

A

A

A

A

A

A

A

A

A

A

A

A

A

A

A

A

A

A



C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C



G

G

G

G

G

G

G

G

G

G

G

G

G

G

G

G

G

G

G

G

G

G

G

G

G

G

G

G

G

G

G

G



T

T

T

T

T

T

T

T

T

T

T

T

T

T

T

T

T

T

T

T

T

T

T

T

T

T

T

T

T

T

T

T


